Math 124D/E Midterm 1 Autumn 2016
Your Name Your Signature
Student ID #
Megan David Fablina Sam

Section (Tues.) 10:30 9:00 10:30 9:00 10:00 11:30 10:00 11:30
(circle one) DA DB DC DD EA EB EC ED

e Turn off all cell phones, pagers, radios, mp3 players, and other similar devices.

e This exam is closed book. You may use one 8.5” x 11” sheet of handwritten notes (both sides OK)
but no worked problems. Do not share notes.

e You can use only a Texas Instruments TI-30X IIS calculator.

e In order to receive credit, you must show all of your work. If you do not indicate the way in which
you solved a problem, you may get little or no credit for it, even if your answer 1s correct.

e Place |a box.around your answer | to each guestion.

e If you need more room, use the backs of the pages and indicate that you have done so.

e Raise your hand if you have a question.

o This exam has 6 pages, plus this cover sheet. Please make sure that your exam is complete.

Question Points Score
1 16
2 16
3 16
4 16
5 16
Total 80
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1. Determine if the following limits exist. If they exist, compute them. Justify your answers.
(a) (6 points) Ii i
= . x50 4x—x2 2x

‘F\\(S'\' w ke everyhng over o (enimon dencminator

\\M(l SULTE O N . \_v\x*\

X—vo \\xxt 3 o X0 U¥ UX¥T Ay yx-xt

= \\M (ix "(‘h( —)(1) \ Y x-4x '\'X )
X0l X(HX-x) X6 \ Ik (Hx-x2) 53*7“3

o \\{V\ Xi _—\‘m \ =5
x> (XH(§-3x) ) “x—de( $-ax Z-LLO)

X . —~1—y02 =3
(b) (5 points) 11m B

2—x
‘Mv\h?H \07 YW (onj utja‘ﬁ
e (D) | e (T (e BT
xiaz_ " xaz >~ ¢ (=) # X -3
*.lx

= \\m (x- D ﬂ@ 2=3) X2xr| -x*+3 i
Xa)l R X“’ (3 x)(zv\*rh@- 3 ) &L\ %\CX -le(x>=3

N /2R T
x-?L((A—r)(X-H—r—:B_ K.__yl(x n—ﬁ—;) Xiryg & .
(&) (5 points) lim (1+cos(x))-sin (x_ln_) [Hint: Use the Squeeze Theorem]
Fust, vohce Paat -\ £ S0 (g‘l’ﬁ}é—_\ . Mu\\*?\\jw\g Cac\n Yrnn
by (1+Cescq) e abloun b %\\Ow\n{j (nequaliby
..(H-COS(X)) é(\&—wscx}. Sm({},\-‘;) & (\ \.wsm) ’ Nine

lim ,(\a—(;oj(x)) > *_'(\ *-Cos(‘n')) =+ (\-\) =0

x—ﬂf
(h—cr»)(x\) sm(r) i3 bouwd VYehween s Junchuns et ageoada

2o af x—sq  Theehe \:)7 Me S‘tu&-"\ﬂum

| K‘_v;l_\r(u'(—”f(x]) *,S‘t'l\ \ :




MﬂlLIZ-it(;, Autumn 2016 Midterm 1

Page 2 of 6
2. Compute the following limits. Your answer may be finite, +eo, —co, or the limit might not exist. If the
limit does not exist, write DNE. Carefully justify your answer,
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3. Let ¢ be a constant. Define F(x) by the piecewise formula

_ cxr+1 ifx>1;
F()—{ -2x+2 ifx<l1.

(a) (8 points) Find all values of ¢ that make F continuous on (—eo,0). Justify your answer. (Your

justification should involve limits). “
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(b) (8 points) Set the constant ¢ to be equal to your answer from part (a). Is the function F then
differentiable at x = 1, and if so, what is F/(1)? Justify your answer. (Your justification should

~ involve limits).
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4. For each function f(x) below, either compute f’(a) or determine that f is not differentiable at a.
Justify your answers.
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(¢) (4 points) a =2, f(x)= I;-I ¥
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5. Let f(x) = x> —5x+1.
(a) (8 points) Find the equation of the tangent line to the curve y = f(x) at (1,—3).
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(b) (8 points) Find all points a such that the tangent line to the curve y = f(x) at (a, f(a)) has y-

intercept —3.
('ay =Ca=5 7 - & Shpe of e

,n,\)rem@fﬂ AL +&M5@A [ w=mx -3
0-5)o = 2 C"“LW‘B"’“}

. )
r a«5a+| C"W’\SMQQQW



	beg
	Prob_1
	prob_2
	prob_3
	part_4_1
	part_4_2
	Prob_5

